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1) What is the case of Hv X% poo Yy po0?

2) What is the case of 2°nwxi nw°a nvpa 012372

3) What is the usual 1°7 in regards to 77 Nw2 AN POO?

4) Explain why the case is only talking about 2>»wa3 N1n*2 7vpa2 01017?

5) What is the 17 according to the a°n2n, and explain why?

6) What is the "7 according to TT¥°7K '3?

7) Explain why X" does not agree with the reasoning of the 0°25n7?

8) Explain the X0 P50 according to X" (*"w7)?

9) How does X"1 express this?

10) What is the 1>7 in the case of 2¥ X2 po0 H¥ P90, and explain why (°"'w1)?
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